Pedigree Diagrams

A pedigree diagram shows a family tree in which the inheritance of a certain characteristic is followed through two or more generations.

It is common to symbolise females using circles and males with squares.  Individuals with the trait under study are shown with shaded shapes.

Example:   For the trait of being shortsighted in humans.   
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Gwen, Fred and Guy are shortsighted.

Bill
Millie


Gwen
Fred
Laura
Todd

If N is the allele for normal sight and n is the allele for shortsighted, write the genotypes of all of the people in this family in the circles or squares.


Guy
Shelly
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Note that for one individual here you don’t know if she is homozygous or heterozygous for eyesight. Who is it? 
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50. Which characteristics are recessive in the above pedigree diagram?
A. Red hair and brown eyes.
B. Red hair and blue eyes.
C. Dark hair and brown eyes.
D. Dark hair and blue eyes.




This is an old School Cert. question using a pedigree diagram.

In school certificate it was common to use other symbols for pedigree diagrams as shown below

In the following family tree the symbols below are used



Tongue roller
Non-tongue roller


1. Which is the dominant characteristic ?________________________

2. What evidence supports your answer to 1 above?

___________________________________________________________________________

___________________________________________________________________________

3. If the dominant allele has symbol R and the recessive allele has symbol r, give the genotype of individual G.

___________________________________________________________________________

4. The children of A and B are heterozygous. Which individual in the family tree shows that the non-roller allele still exists in the children? Give a reason.

Individual ___________________

Reason  ___________________________________________________________________

___________________________________________________________________________

5. F and G have another child.  What is the probability of it being a non-roller?

___________________________________________________________________________

___________________________________________________________________________

